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QUESTION 1

When a 5 GHz HT station in a 40 MHz BSS desires to protect a 40 MHz transmission from an OFDM station using an
RTS/CTS or CTS-to-Self exchange, what frame format is used for the RTS and/or CTS frames?

A. HT-mixed format

B. HT-greenfield format

C. Dual-CTS

D. Non-HT Duplicate

E. Phased Coexistence PPDU

Correct Answer: D

QUESTION 2

Given the IEEE 802.11 Beacon frame decode shown,

BB retwork media info
: bimestamp : 5/18 18:37:04.398113
sigral strength : 43%: (-6 dBm)
noize [evel | 0% (-95 dBm)
frame length @ 122
data rate : Z mbps
chawrel : 3
i CRC error : no
[-|- 802.11 MAL header
. [+ frame control
duration : 0 usec
des: addr : FF:FF:FFiFF:FF:FF
src addr ; 00;00;ED; AS:4F: 70
b=sid | 00;00;ED:AS:4F: 70
frag number : O
: seqnumber @ 1444
-- 802.11 frame body
timestamp : S0B1BFAL: 02000000
beacon interval @ 100 TLES)
+- capability info
+ info : SSID {0}
+- info : supported rates (1)
=l info : DS param set {3)
length ;1
current channel : 1
+- info : TIM (5)
=I- info ;: ERP information (42}
length i 1
Mor-ERP station presert | ves
Use protection ; ves
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determine which statement is definitively true.

A. The access point is operating on channel 3.

B. The access point has both 1 Mbps and 2 Mbps configured as basic rates.

C. This Beacon frame came from an ERP or HT access point.

D. The SSID value in this Beacon is null.

E. ERP mobile stations must use the RTS/CTS protocol before Data transmissions.

Correct Answer: C

QUESTION 3

In which 802.11 frames is the SSID present, provided the SSID is not removed through proprietary software
configuration by an administrator? (Choose 3)

A. Association Request
B. Reassociation Request
C. Probe Response

D. Disassociation

E. Authentication

F. Association Response

Correct Answer: ABC

QUESTION 4

The IEEE 802.11 Dynamic Frequency Selection (DFS) service is capable of performing what functions? (Choose 2)

A. Establishing an interference baseline on all 2.4 GHz channels

B. Using modulation switching techniques to avoid interfering with radar systems

C. Testing channels for radar before using a channel and while operating in a channel
D. Suspending operations on a channel with high IEEE 802.11 co-channel interference
E. Requesting and reporting of measurements in the current and other channels

Correct Answer: CE

QUESTION 5

PWO0-270 Study Guide | PW0-270 Exam Questions | PW0-270 Braindumps


https://www.passapply.com/pw0-270.html
https://www.passapply.com/pw0-270.html
https://www.passapply.com/pw0-270.html

VCE & PDF https://lwww.passapply.com/pw0-270.html|
2024 Latest passapply PW0-270 PDF and VCE dumps Download
PassApply.com

Which statement accurately describes IEEE 802.11 Power Save operation in a Basic Service Set that does not support
the QoS facility?

A. Following a period of time in a low power state, client stations wake themselves and automatically poll the access
point for traffic using a PS-Poll frame.

B. When the access point\\'s buffer is full, the access point wakes all client stations using a PS-Poll frame so that they
can receive the data.

C. Upon receiving traffic for a dozing station, the access point wakes the client station using a PS-Poll frame so that the
client station can receive the data.

D. After waking from a low power state, client stations listen for the next Beacon to determine if sending a PS-Poll frame
to the access point is necessary.

E. After waking at a scheduled TBTT, client stations send Null Function frames to the access point with the Power
Management bit set back to zero.

Correct Answer: D
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